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R omae | BTV e | B2 | e | oo | | B2 | | e M | B2 T e | B | M
;| 100KN/m%E#ZS | 1.00/000 ~ 2.94 146.68|3m%#82%|0.00 ~ 0.16[ 3.08 16.51[ 100kN/mi%#82% | 1.00| 10.54 ~ 25.20 146.68(3m%#82 %[ 25.00 ~ 2520/ 3.08 16.51
Zhust 1.00/2.94 ~ 10.73 100.00] #hust 016 ~ 10.73[ 3.00 16.05 Fhuist 1.00| 500 ~ 10.54 100.00] #hiust | 5.00 ~ 2500 3.00 16.05
) 100kN/m%#8%% |  1.00/0.00 ~ 2.58 140.46(3m%#2%%| 000 ~ 0.07| 3.05 16.31[ 100kN/mi%#82% | 1.00| 11.85 ~ 24.00 140.46( 3m%#82 %[ 20.00 ~ 24.00| 3.05 16.31
Zhust 1.00| 2.58 ~ 10.36 100.00] #hust | 0.07 ~ 10.36] 3.00 16.05 Fhuist 1.00[ 500 ~ 11.85 100.00] #hiust | 5.00 ~ 20.00( 3.00 16.05
2 100kN/m%#8%% | 1.00/0.00 ~ 2.07 131.97|3m%#2%(0.00 ~ 0.19 3.14 16.80[ 100kN/mi%#82% | 1.00| 12.65 ~ 22.06 131.97|3m%#8% 5| 20.00 ~ 22.06 3.14 16.80
Zhust 1.00/2.07 ~ 9.85 100.00] #hist |0.19 ~ 9.85[ 3.00 16.05 hust 1.00] 500 ~ 12.65 100.00] #hiust | 5.00 ~ 20.00[ 3.00 16.05
4 100kN/m%#8x% | 1.00/0.00 ~ 2.52 139.48(3m%#2%%| 000 ~ 0.04| 3.03 16.21[ 100kN/m%#82% | 1.00[ 11.71 ~ 23.18 139.48| 3m%#8% 5| 20.00 ~ 23.18 3.03 16.21
Zhust 1.00/ 2.52 ~ 10.30 100.00] Z#hiist | 0.04 ~ 10.30[ 3.00 16.05 hust 1.00[ 500 ~ 11.71 100.00| #hiust | 5.00 ~ 20.00[ 3.00 16.05
5 100kN/m%#8%% | 1.00/0.00 ~ 3.01 147.84(3m%#2%%| 000 ~ 0.33] 3.19 17.06( 100kN/mi%#82% | 1.00| 10.71 ~ 25.41 147.84| 3m%#8% 5| 25.00 ~ 2541 3.19 17.06
Zhust 1.00[3.01 ~ 10.79 100.00] #hist 033 ~ 10.79[ 3.00 16.05 huist 1.00[ 5.00 ~ 10.71 100.00| #hiust | 5.00 ~ 2500 3.00 16.05
6 100kN/m%#8%% | 1.00/0.00 ~ 2.65 141.79(3m%#2%%| 000 ~ 0.79| 3.53 18.88[ 100kN/mi%#82% | 1.00( 1259 ~ 26.92 141.79(3m%#82 %[ 20.00 ~ 26.92| 3.53 18.88
Zhust 1.00| 2.65 ~ 10.44 100.00] Zhist |0.79 ~ 1044 3.00 16.05 huist 1.00] 500 ~ 1259 100.00] #hiust | 5.00 ~ 20.00[ 3.00 16.05
. 100kN/m%#8x% | 1.00/0.00 ~ 3.30 152.92(3m%#2%%| 000 ~ 0.74| 3.45 18.45( 100kN/m%#82% | 1.00[ 11.25 ~ 30.08 152.92(3m%#82 %[ 25.00 ~ 30.08| 3.45 18.45
Zhust 1.00[3.30 ~ 11.09 100.00] #hist |0.74 ~ 11.09[ 3.00 16.05 huist 1.00[ 500 ~ 11.25 100.00] #hiust | 5.00 ~ 2500 3.00 16.05
o 100kN/m%#8%% |  1.00/0.00 ~ 2.68 142.17|3mz#B2%| - ~ - - -| 100kN/mi%#8%% | 1.00| 10.87 ~ 28.00 142.17|3m%#82 % -~ = = =
Zhust 1.00/ 2.68 ~ 10.46 100.00] #h st | 0.00 ~ 1046 2.88 15.43 huist 1.00] 5.00 ~ 10.87 100.00| #hiust | 5.00 ~ 28.00( 2.88 15.43
o 100kN/m%#8%% | 1.00/0.00 ~ 2.39 137.41|3mz8B2%| - ~ - - -| 100kN/miZ#8x% [ 1.00] 11.04 ~ 25.41 137.41|3m%#82 % -~ = = =
Zhust 1.00[2.39 ~ 10.18 100.00] #hiust | 0.00 ~ 10.18[ 2.85 15.25 huist 1.00[ 500 ~ 11.04 100.00| st | 500 ~ 2541 2.85 15.25
. 100kN/m%#8%% |  1.00/0.00 ~ 1.65 125.26(3mz#Bz%| - ~ - - -| 100kN/mi%#8%% | 1.00| 11.20 ~ 18.82 125.26| 3m%#82 % -~ = = =
Zhust 1.00/1.65 ~ 9.44 100.00] #hiist |0.00 ~ 944 220 11.78 Fhuist 1.00[ 500 ~ 11.20 100.00] £t | 5.00 ~ 18.82 2.20 11.78
i1 | 100KN/miZE#BZ 5| 1.00)0.00 ~ 086 112.90(3mz#Bz%| - ~ - - -| 100kN/mi%#8%% | 1.00| 1253 ~ 16.94 112.90| 3m%#82 % -~ = = =
Zhust 1.00/0.86 ~ 8.65 100.00] #hiist |0.00 ~ 8.65[ 2.10 11.26 Fhuist 1.00] 5.00 ~ 1253 100.00] st | 5.00 ~ 16.94| 2.10 11.26
- 100kN/m%#8%% | 1.00/0.00 ~ 3.68 159.62(3m%#%%[ 000 ~ 0.73| 3.44 18.38[ 100kN/mi%#82% | 1.00[ 11.19 ~ 37.25 159.62(3m%#82 %[ 2500 ~ 37.25| 3.44 18.38
Zhust 1.00[3.68 ~ 11.46 100.00] #hust |0.73 ~ 11.46 3.00 16.05 huist 1.00[ 500 ~ 11.19 100.00| #hiust | 5.00 ~ 2500 3.00 16.05
. 100kN/m%#8%% | 1.00/0.00 ~ 3.56 157.45(3m%#2%%| 000 ~ 0.72| 3.43 18.35( 100kN/m%#82% | 1.00| 11.17 ~ 34.27 157.45(3m%#82 %[ 25.00 ~ 34.27| 3.43 18.35
Zhust 1.00[ 356 ~ 11.34 100.00] #hist |0.72 ~ 11.34] 3.00 16.05 Fhuist 1.00[ 500 ~ 11.17 100.00] #hiust | 5.00 ~ 2500 3.00 16.05
" 100kN/m%#8%% | 1.00/0.00 ~ 3.49 156.22(3m%#2%%| 000 ~ 0.75| 3.45 18.48[ 100kN/m%#82% | 1.00[ 11.27 ~ 33.29 156.22(3m%#82 %[ 25.00 ~ 33.29| 3.45 18.48
Zhust 1.00[3.49 ~ 11.27 100.00] #hust |0.75 ~ 11.27[ 3.00 16.05 Fhust 1.00[ 500 ~ 11.27 100.00| #hust | 5.00 ~ 2500 3.00 16.05
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